@ given 127= e-1212/2 e hat 10> Eist prove coheret by shaving $a|\lambda\rangle = \lambda|\lambda\rangle$ $a|\lambda\rangle = exp(-1\lambda|^{2}k)ae^{\lambda a^{\dagger}}|0\rangle$, and since $[a, e^{\lambda a^{\dagger}}] = ae^{\lambda a^{\dagger}} - e^{\lambda a^{\dagger}}a$ Sabrai 2-19 which is true ble [A, B"] = n B"-1 [A, B] Now use 2.33 to show = $e^{-1\lambda l^{2}/2} \sum_{n=0}^{\infty} (A^{n} n (a^{+})^{n-1}) |0\rangle = e^{-1\lambda l^{2}/2} \sum_{n=0}^{\infty} \frac{\lambda^{n}}{(n-1)!} (a^{+})^{n-1} |0\rangle$ $= e^{-|\lambda|^{2}/2} \sum_{n=0}^{\infty} \frac{\lambda^{n-1}}{(n-1)!} (a^{*})^{n-1} 107$ But n=0, so we start@n=1, or alteratuly, since n=0, just reinder. set $n=1 \rightarrow 0$. $a|\lambda\rangle = e^{-1\lambda l^2/2} \lambda \left(\frac{g}{h} \frac{\lambda^n}{n!} (a^{\dagger})^n\right)|0\rangle = e^{-1\lambda l^2/2} \lambda e^{\lambda a^{\dagger}}|0\rangle$ so all $\gamma = \lambda (e^{-|\lambda|^2/2} e^{\lambda a^2} |0\rangle) = \lambda |\lambda\rangle$. This cohereve Now Proce normalized: $(\lambda|\lambda\rangle = 1$ $(\lambda|\lambda\rangle = (o|e^{-1\lambda|^2/2}e^{\lambda^*a}e^{-1\lambda|^2/2}e^{\lambda a^*}|o\rangle$ $= 7(o) \stackrel{e}{=} \frac{(\lambda^*a)^m}{m!} \stackrel{e}{\geq} \frac{(\lambda^*a)^m}{n!} \stackrel{e}{=} \frac{(\lambda^*a)^m}{n!}$

Solution continues on the next page.

() We seek
$$((ax)^{2} > ((ap)^{2})$$

 $\rightarrow ((ax)^{2} > (x^{2}) - (x)^{2}$, using $x = \sqrt{2}m_{1}(a+a^{2})$
 $\rightarrow ((ax)^{2}) = (x^{2}) - (x)^{2}$, using $x = \sqrt{2}m_{1}(a+a^{2})$
 $\rightarrow ((x)^{2} < (x)(x) > \frac{2}{2}m_{1}(x+x^{2}) > (x^{2}) = \sqrt{2}m_{1}(x+x^{2})$
 $+ (x^{2}) = (x)(x)(x) = \frac{2}{2}m_{1}(x+x^{2})(a+a^{2})(a+a^{2})(x+x^{2}) = (x^{2})(x+x^{2}) = (x^{2})(x+x^{2})(x+x^{2}) = (x^{2})(x+x^{2}) = (x^{2})(x+x^{2}) = (x^{2})(x+x^{2}) = (x^{2})(x+x^{2}) = (x^{2})(x+x^{2})(x+x^{2}) = (x^{2})(x+x^{2})(x+x^{2}) = (x^{2})(x+x^{2})(x+x^{2}) = (x^{2})(x+x^{2})(x+x^{2}) = (x^{2})(x+x^{2})(x+x^{2})(x+x^{2}) = (x^{2})(x+x^{2})(x+x^{2})(x+x^{2})(x+x^{2}) = (x^{2})(x+x^{$

$$\frac{\ln(P) = -|\lambda|^2 + n\ln(|\lambda|^2) - \ln(n!) = 2\ln(f(n))}{\ln(n!) - \frac{1}{2n}\ln(n!) = 0}$$

$$\frac{\ln(P) = -|\lambda|^2 + n\ln(|\lambda|^2) - \ln(n!) + \frac{1}{2n}\ln(|\lambda|^2) - \frac{1}{2n}\ln(n!) = 0$$

$$= 2 - \ln|\lambda|^2 - \frac{1}{2n}\ln(n!) + \frac{1}{2n}\ln(|\lambda|^2 - \frac{1}{2n}\ln(|\lambda|^2) + \frac{1}{2n}\ln(|\lambda|^2) - \frac{1}{2n}\ln(|\lambda|^2) + \frac{1}{2n}\ln(|\lambda|^2)$$

constantinesses

S